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Sampling Distributions of Sample
Proportions

P = the proportion of the population having
some characteristic

Example

* If the true proportion of voters who support

Proposition A is P =.4, what is the

probability that a sample of size 200 yields a

(p) provides an estimate

sample proportion between .40 and .45?
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According to the US Census Bureau's American Community P OJ4 0.34
Survey, 87%, percent of Americans over the age of 25 have earned a ‘/ PU-P. P) \/ o S_Zocg 057 (043) P(2< > Pz> )

high school diploma. Suppose we are going to take a random sample
of 200 Americans in this age group and calculate what proportion of
the sample has a high school diploma.

What is the probability that the proportion of people in the
sample with a high school diploma is less than 85 percent?
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If S? is the variance of a random sample of size n taken from a normal population
having the variance o2, then the statistic
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has a chi-squared distribution with v = n — 1 degrees of freedom.
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A particular type of vacuum-packed coffee packet P( a $ S 2< IO>= 09 sz D ol S=
contains an average of 16 oz. It has been observed that the — =
number of ounces of coffee in these packets is normally J/ | | o o*
distributed with 6 = 1.41 oz. A random sample of 15 of [ = A
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used to calculate s. Find the numbers a and b such P
that P(a < 8% < b) =0.90.
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